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SECTION -1 / M/ - I
PEDAGOGY / Ty

There are 30 questions in all in this Section. All questions are compulsory.
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Authoritarian level teaching s

()  teacher centred (B) child centred

(C) headmaster centred (D) experience based,
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Character 18 developed by

(& will power (B) conduct and behaviour
(C)  morality (D) all of these.
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(A}  Differentiation level (B] Memory level

(C)  Reflctive level (D) Understanding level.
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If a student 1s too shy to participate in class, you will
(& not ask questions from him
(8) ask only those questions from him whose answers can be given by him

(C) not ask those questions whose answers are beyond his means due to which he

may become an object of ridicule in the class
(D) ask questions from him only when he Is keen to answer those.
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Teacher behaviour ought to be .

A administrative (B) instructive
() idealistic (D) directive.
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11,

Girl's education should be given priority because

(A)  girls are more intelligent than boys

(B)  girls are less in number than boys

(C)  girls were badly discriminated against in the past

(D)  only girls are capable of leading a social change.
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The success of integrated education depends on

(&) the support of community (B) excellence of textbooks
(€  quality of teaching-learning material (D) attitudinal change in teachers.
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The best remedy for a student's problems related with learning is

(&) suggestion for hard work (B) supervised study in library
(C) suggestion for private tuition (D) diagnostic teaching,
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A teacher can motivate students by

(A} giving prizes- (B) giving proper guidance _
(C)  giving examples (D) delivering speeches in class.
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If a student does not pay respect to you, then you will .

(A)  ignore him (B) award less marks in exam.
{C) talk to his parents (D) rebuke him,
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Development of human values which are universal in nature means

(A} indoctrination (B) adoption

{C) imitation (D)  manifestation.
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In order (0 understand his students, a teacher should be well-versed in
(A} child psychology

(B) inclination towards understanding children

(C)  opinions of students towards the subject matter

(D)  all of these.
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In which of the following stages do children become active members of their peer
group ?

()  Adolescence (B} Adulthood
(C) Early childhood (D)  Childhood.
1 ¥ R o w o a= o i w ¥ afe weem a0
(&) fFrommEen (B) #IwHERdl
(C) WIF FreaEgeg (D) EraEw |

Mind mapping refers to

(A a technique to enhance comprehension
(B) aplan of action for an adventure

(C)  drawing the picture of a mind

(D) researching the functioning of the mind.
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Which of the following is not considered as a sign of ‘being gifted" ?

(Al Creativity in ideas (B) Fighting with others

(C)  Novelty in expression (D)  Curiosity.
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A normal 12-year old child 1s most likely to

(A have difficulty with gross motor coordination
tB)  have anxiety feelings about pleasing adults

(€)  confine his/her interests to the here and now
(D} be eager for peer approval.
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17. The reason why students run away from school is
(A) lack of interest in class teaching .
(B) lack of interest in studies on the part of students
(©) not giving punishments (o students
(D) callous attitude of teachers towards the problem.
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18. In order to develop the spirit of labour in students
(A} the teacher himself should indulge in labour
(B) the teacher should deliver lectures on the importance of labour
(C) students should be given opportunities to do labour from time to time
(D) students should be given examples of people who labour.
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19. Child development is defined as a field of study that
(A} examines change in human abilities
(B} secks lo explain behaviour across lifespan
{C) compares children to adults to senior ciizens
(D) accounts for the gradual evolution of a childs cognitive. social and other

capacities.
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20. Knowledge of child psychology is a must for a primary teacher, because

{4 it helps in making children disciplined

{B) the examination result is improved

(C) it becomes a convenient mode for motivating children

(D) it helps the teacher in understanding the behaviour of children.
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In order to modify the undesirable behaviour of a student the most effective method is
(4)  to punish the student

(B) to bring it to the notice of the parents

(C) to find out the reasons for the undesirable behaviour and provide remedies

(D} toignore it.
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Some students send a greeting card to you on Teacher's Day. What will you do ? You
will

(3  do nothing (B} say thanks to them

(C) ask them not to waste money (D) reciprocate the good wishes to them.
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When a student fails, it can be understood that

() the system has failed (B) the teacher is a failure
(C) the textbooks are a failure (D) it is the individual's failure.
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The most important trait of a student is

(A)  sense of responsibility (B) honesty

{C) cooperation (D) obedience.
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You are teaching in class and a student asks a question unrelated to the topic. What
will you do ?

(A} Allow him to ask unrelated questions

(B) Not allow him to ask any unrelated questions

(C) Consider it as indiscipline and punish him

(D) Answer the question after class.
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26. At primary level, it is better to teach in mother tongue because
(A) it develops self-confidence in children
(B) it makes learning casy
(C) it is helpful in intellectual development
(D) it helps children in leaming in natural environment,
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27. What is most important while writing on blackboard ?

(A) Good writing (B) Clarity in writing
(C) Writing in big letters (D) Writing in small letters.
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28. A student comes late in your class. You will
(a) inform his parents (B) punish him
(C) try to know the reason (D) not pay any attention to him.
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29. How should students be motivated in school ?
{A) By selected study (B) By incidental study
(C) By intensive study (D) Learning by recitation.
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30. The aim of education should be
(A) to develop vocational skills in the students
(B) to develop social awareness in the students
(C) to prepare the students for examination
(D) to prepare the students for practical life.
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SECTION - It
SPECIAL INSTRUCTION : There are questions on 3 languages in this Section.

Each language consists of 30 questions. The candidate has to answer the questions of
First Language Hindi compulsorily. Out of the other two languages, the candidate has
to answer any one — either English or Urdu as Second Language, chosen by him /
her in the Application Form. Total number of Language questions to be answered by
the candidate is 60.

For First Language questions all answers are to be marked in the OMR Answer
Sheet starting from 31 to 60,

For Second Language questions all answers are to be marked in the OMR Answer
Sheet starting from 61 to 90,
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SECTION - I
Second Language — ENGLISH

There are 30 questions in all in this Section.
All questions are compulsory.

Choose the sentence where the comma fs placed correctly :

(A) Yes the play was, fun.

(B) Noldidn't, go backstage.

(C) Well, the ending did surprise me.

(D} No Mohan, was the lead actor.

Choose the option which gives the correct abbreviation :

(A) Janu. 12, 1965 (B) Laxmi Paper Comp.
(©) Satur., May 19 (D) North St.

Choose the correct spelling :

(A) calendar (B) celender

(C) calandar (D) calander.

Choose the correct spelling :

(A) preveledge (B) previlege

(C) privilege (D) priviledge.

What does the phrase ‘cream of the crop’ mean ?

(A) putting cream in coffee (B) the worst of a group.
{C) icing a cake (D) the best of a group.
The word pair — discrete and discreet — are called

(A) homonym (B)] homophone

(C) synonym (D) antonym.
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Choose the noun form of the given word :

strong
A strongly (B) strongness
(C) strength (D) strengthen.

Choose the noun form of the given word :

grave
(A) gravely (B) graveness
(C) gravel (D) gravity.

A very brief pause in a sentence is marked by using a/an
(A) semicolon (B) comma
(C) apostrophe (D) pertod.
In the given sentence identify the gerund :

Jogging is a good exercise.

(&) jogging (B) is

(C) good (D) exercise.

Idénttfy the type of word that s underlined in the given sentence :

All the people cheered.
) noun (B) pronoun

(C) ‘adjective (D) verb.

Identify the type of word that is underlined in the given sentence :

It's sheer rubbish.
(A) noun (B) pronoun

() adjective (D) verb,
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Choose the singular form of the given word :

gulfs

(&) engulf (B) gulp

(C) gulf (D) golf.

Choose tha torrect sentence :

(A)  Of water take this glass (B) Take glass of this water
(C) Take this glass of water (D) Take this water of glass.
Choose the word that is spelt incorrectly :

(A)  dulcet (B) convulse

(C) principal (D) negetive.

Choose the word that is spelt correctly :

(A)  difine (B) maime

(C)  perfidy (D)} ingrace.

This movieds ...t than the last one.

(A)  Dbest (B) good

(C) better (D)  worst.

Ravi wasn't thinking ........................ .

(&) clear (B) unclear

(C) clearly (D) unclearly.

Choose the part where there is an error in the given sentence :

I went to the library to get as many information as I could
A (B) (&) (D)



80.

81,

82.

83.

84,

Choose the sentence that is correct with respect to punctuation and capitalization
(A} how glad we were to see Aunt Rekha !

(B)  She was visiting us for summer.

(C) Had she missed us.

(D)  we welcomed her into our home ?

Which statement is correct ?

Statement I : We considered the matter farther.
Statement Il : We considered the matter further.

(A} BothlandlIl

(B) Onlyl

(C) Only il

(D)  Neither I nor II.

What is the past participle of ‘ride’ ?

(A, ride (B) rode
(C) rides (D) ridden.
What is the simple present of ‘grew' ?

(&) grow (B) growth
(C) grown (D) grows.
Choose the adverb from the following :

(A)  walk (B) badly

(C) good (D) fast.



85.

86.

87.

88.

89.

90.

Choose the adverb from the foflowlng :
(A)  hardly (B)

(@] harder (D)

Identify the type of verb in the given sentence :

He slept.
(a) transitive verb (B)
(C) regular verb (D)

Choose the superlative form of ‘fast’ :

(A) fast (B)
(C) fastest (D)
If the superlative is least, then the positive is
(A) least (B)
(C) little (D)
What is the comparative form of ‘bad’ ?

(A) bad (B)

(C) Dbetter (D)

Fill in the blank :

........................ time has already been wasted.

(A) Few (B)

(C)] Much (D)

OR / gar

hard

hardy.

intransitive verb

frregular verb.

faster

fastly.

less

lesser.

worse

worst.

Many

All of these.
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SPECIAL INSTRUCTION FOR SECTION Il
In Section-IIl there are two sub-sections III (a) and Il (b), Section-1IT (a) consists of
60 questions in Mathematics and Science. Section-IIl(b) consists of 60 questions in
Social Studies. The candidate has to answer either 1i{a) or IlI(b) as chosen by him /
her in his / her Application Form. For questions of Section-III, candidate has to mark
all the answers in the OMR Answer Sheet from 91 to 150.
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SECTION - IlI(a) / T - IlI(a)
MATHS AND SCIENCE / v 5 figm=
There are 60 questions in all in this Section. All questions are compulsory,
™ Fa 80w § | wvit wva aifrard §

The bright, attractive part of a flower is

(A) corolla (B)] sepals
© petals (D) pedicel.
FE & THRIT a9 AHEF o7 ¥

A e B) e 3@
€ == D~ TR 74 |
Cholera is caused by

(A) bacteria (B) virus

(C) insect (D) toxin.
FHen g ¥

@ A g (B) I FR
(C) w®rE g (D) 2R Zm
Eggs are a rich source of

(A) fibres (B} protein
(C) carbohydrate (D) fat.

32 3o & ¥

(A el @ (B) W@

(C) wrafede @ (D) =& FH |



94.

95.

96,

97.

98.

99.

Jute fibre 1s obtained from which part of the plant ?

(A)  Leaf (B) Flower
(C) Stem (D) Root.
9% ¥ g wm @ 52 dq v s ¥ 2
(a) ot B) Ta
) @ (D) H& )
Rice and wheat can be termed as
A) pu.lses (B) cereals
(C) vegetables (D) fruits.
orEe adn 1 ) wfaa e s
) =l F w9 H (B) T * w9 H
(C) wfsalFdwgd (D) el FHIH |
Plants that produce their own food are called
(A)  autotrophs (B) heterotrophs
(C) saprophytes (D) parasites.
e SS9 W = g €, woeny €
@ sERTE B) BXEE
€ dMEE (D) WrEEE |
Flowering plants that bear flowers, fruits and seeds are called
{A)  cryptogams (B) ferns
(C) gymnosperms (D) angiosperms.
T, B T A UR F T B 5 9 wraw § '
) ey B) &
(€) oo (D) dfsEresd
Which of the following is a dicotyledon ?
(A) Grass (B) Mango
(C) Maize (D)  All of these.
Fad @ fFomft sl ¢ 2
A) =™ B) &M\
€ == (D) 9§ a4
Single-celled animals are classified as
(A)  arthropods (B) mammals
(C) protozoans (D) molluscs.
TS Fren WO Y it ey s &
(a) - anyidrz & w9 § B wHEFeeq

(C) WESeEm & wyH (D) W & ®9 7 |



100. The roots of a banyan tree are

Aa) climbing roots (B) stilt roots
(C) breathing roots (D) adventitious roots.
FAF A FH g E
(& SE g9 (B) WY H&A
(C) w&aEd 7o (D) gt g |
101. Water that is absolutely pure and free from any impurity is known as
(A)  distilled water (B) mineral water
(C) spring water (D) bolled water.
argrfs A ol &9 ¥ g T YS I F FHel e &
(A) A e |) wfFs =
(C) ¥EN & A (D) TwEN B WA |
102. By which method is a solute obtained from a solution ?
(A) Sedimentation (B) Decantation
(C) Filtration (D) Evaporation.
fravgfagRi s e A faem ym fFar st s @ 2
(A  HIEEA B) Ao
C) &AEaA (D) a™H |
103. Which of the following is a water-borne disease ?
a) Diphtheria (B) Tetanus
(C) Hepatitis (D) Malaria.
o oifa T ® 2
(a) feeafen B) ferwm
© Ehnfem (D) = |
104. Constituents of quartz are silicon and
(A) oxygen (B) sulphur
(C) nitrogen (D) hydrogen.
Faregs ¥ gga ¥ fafasE au
(a) AT B) T
© A (D) TRGSH |
105. The burning of which causes the most air pollution ?
(A) Coal (B) CNG
(C) LPG (D) Hydrogen.
fora® e | wa8 ifus 9. yguu g € 2
(A HrEE (B) CNG

(C) LPG (D) TESEA |



106. Which of the following substances is not miscible with water ?

(A} Milk

(C)  Alcohol
ﬁaﬁﬁﬂa--mw#mﬁ?ﬁw? ?
A 3y

(€ ewEd

107. Which is not a reversible change ?
(A)  Water té water vapour
(C}  Burning of kerosene
okt oftads R-wm il ¥ 2
&) ¥ YN
€ fowea & s

(B) Honey’
(D) Oil’

(B) vww@e
(D) 3

(B) Melting of iron

(D) Condensation of water vapour.

(B) e 1 frmen
(D) T4 1 HeaT

108. The molecules of which of the following substances contain the same kind of atoms ?

(A)  Oxygen
(C) Carbon dioxide

(B) Water
(D)  Sulphur dioxide.

ﬁﬂﬁﬁmm%mﬁﬁmﬁm%mm! ?

(A st
(C) w7 sRATwanE

B) ==
(D) WEH TERAFEET |

109. Which of the following formulae represents a molecule of ozone ?

@ o,
© H,O0,

4 4 Fh-w g3 s W s et & 2
@ o,

© H,o0,

110. Which of the following is an alloy ?
(A)  Iron
(C) Stainless steel
frddsRfagag t 2
@ e
Q) =Ty e

B) O 3
(D) None of these.

® o,
(D) ¥ A58 7

(B) Gold
(D) Copper.
B) &
(D) dfam |



111. When a force of 1 N acts perpendicularly on an area of 1 m?2, the pressure is

() 1 joule (B) 1 pascal

(@] 1 watt (D) 1 farad.

| 1 2 dra T fues ®9 | wE w0 el 1 =z 9@ & fer 3@ T

(A 13 B 1 U

© 149 o 1%
112. How many ergs are there in 1 joule ?

w 107 B 10°

€y 110% (D) 102

| 5 A fored et €A E 2

@ 107 ®) 10°

© 10° (D) 102
113. A force applied to a machine to do mechanical work is called

(A) load (B) effort

(C) output (D) efficiency.

fcit el Tt T Y ¥ I A e ¥

(A YR (B) waE

© fo= (D) =& |
114. An example of natural magnet is

(&) iron (B) steel

{C) lodestone (D) all of these.

wigfad G w e §

A ® ==

(C) FEH- T ) wEFad |
115. The ability to do work is called

() power (B) energy

(C) mass (D) heat.

4 w01 1 gme wean §

@ s ® St

©) TEE D) F |



1 16.'1'he Sl unit of area is

(A mm? B) cm?
(©) m? (D) km?2
ATEA F1 SI FHE &
W  f 2 ® & 2
© w2 (D) fet 2,
-117. What does angstrom measure ?
(A)  Quantity of liquid (B) Length of light waves
{C) Length of cables (D) Speed of ships.
drE = e & ?
(A 7 & HE (B) W AT # Farg
() Hfael %1 war (D) TS & =@ |
118. A comb attracts small pieces of paper due to
(A) frictional force (B) magnetic force
(C) gravitational force (D) electrostatic force.
T HH FFS F DR IHS F AT FA W IR0
@A) i wfE aw (B) T=&g 7w
(C WEsita 5a (D) fer dgfoss aa |
119. Force can be measured using a
w sprlnig balance (B) thermometer
(C) calorimeter (D) none of these,
T F WG S FEA R '
@ i gen & wam gra B) e g
(©) eiriHi gr- (D) A FE T |
120, Friction can be increased by '
(A)  applying oil (B) moisture on the surfaces
(C) rough surfaces (D)  all of these.
Y Y AR S FHA B
W e T (B) waEl Wt wt gw

[C) EE gael g™ (D) THH AE



121. The surface arca of a cube is 986 cm 2. What is the length of its side ?

(A 4cm B 5cm
(C) 6cm (D) 8 cm.
et T 1 9 AAEE 96 ¥ 2 ¥ 1 T qen 1 war w9 e ?
W el ® s¥
© 6#d (D) 8#H
122. The degree of the polynomial 4x? - 3x% + 8x%is
@w 6 B S
0 38 (D) 2.
qEIR 4x? - 3x5 + 8x® Ffe it
A 6 B) 5
c 3 o) 2.
123. A straight line intersecting a circle at two points is a
(A) tangent (B) secant
(C) chord (D) segment.
foreht 7 91 21 Frgell e SRR A e e v €
@ wEE B) BT
(€ i (D) ®°E |
124. Ifset A={2.3,4.5 6}and sct B= { 3.5, 7. 9} then how many clements are there
nANB?
w o B 1
c 2 (D) 3.
afz ws A=1{2. 8 4.5 6} §g=a B={3.5. 7.9 )7 A N B et sEa 1 2
W o |\ 1
c 2 (D) 3.
125. The number of elements in a set is called
W ordinal number (8) natural number
(C) counting number (D) cardinal number.
foredt weTa # SEEl @) W Feam §
()  FEgEEs e B) WPl W

(©) TR EHEA (D) W@ HE |



126. An article marked at Rs. 8,000 is sold for Rs. 7,200. What is the discount

percentage ?
A 10% (B) 8%
©  12% (D) 11-1%.
feralt o # sifera 779 8,000 %0 & R 7,200 %o Aot 1@ d 2
A 10% B) 8%
(€0 12% (D) 11-1%.
127. What is the complementary angle of 55° 2
(a) 180" B) 90
(C) 125° (D) 35
55" &1 & HI0 71 € ?
A 180° (B 90
(C) 125° (D) 35
128. Find the degrees in an angle which is 0-2 time a straight line angle.
A 20 (B 327
(C) 36° (D) 45"
Tt Hftaita o &1 0.2 1 Fivr faFe afw 1 &y 2
@ 20 | 32
© 36 D) 45°.
129. The letter 'D’ has ................. lines of symmetry.
(A} one (B) two
(C) three (D) none of these,
g "D ¥ faret wafia Tand § 2
@ B
© D) ¥ A7 7 |

130. A closed wooden box measures externally 20 cm long, 14 cm wide and 9 cm high. If
the thickness of the wood is 1 cm, find the weight of the box if 1 cm? of wood

weighs 0-5 g.
B 272¢g (Bl 496 ¢g
O 504¢g (D) 534 g.

UF & THST F T AafF dag 20 0, Sz 14 4 7 S 9 At | 3% wwgt
e 1 & 7 A 1 Wi S el A 0.5 2, @ www w7 99w A 2

(A" 2727 (B) 4967R
(C) 504um (D) 5347WH |



131.

132.

133.

134.

135.

What s the square root of 2% ?

(A 64 (B) 48

) 32 (D) 16.

28mutq@Fn ¥ ?

A) 64 (B) 48

(€ 32 (D) 16.

A field is 80 m in length and 60 m in width. The ratio between its width and length is
A 3:2 B 3:4

@ 4:3 D) 2:3.

s ¥er 1 v 80 3R == 60 7 ¥ | drerd qun oA & dt= H S T
A) 8:2 B 3:4

) 4:3 (D) 2:3.

The angles of a triangle are in the ratio 3 : 7 : 8. Which is the greatest angle ?
) 60° (B) 70°

¢ 75° (D) 80°.

PR FEFU 3:7: 8F A A E |gETR S FE 2

&) 60° B 70°

(C) 75° (D) 80°.

In a class of 50 students, 40% are girls. How many boys are there ?

&y 20 B) 10

(€) 25 (D) 30.

50 faenfddi =1 s a1 H 40% wefeal € 1 Fw H e weF ¥ ?

w20 B 10

(C) 25 (D) 30.

Express as a decimal :

Rs. 37.25 + Rs. 2:30 1 [ Rs. 30-45 - Rs. 1:20 ]

Rs. 1267 - Rs. 4.76 10| Rs. 9-58 - Rs. 6-33

(A Rs. 4-10 (B) Rs. 375
() Rs: 530 (D) Rs. .5-80.
ymeE ¥ o S :

37.25% +2:.30% 1 [ 30.45%0 - 1.20%o ]
12.67%¢ — 4.76 %o 10| 9.58%0 - 6-33T0

&) 4.10%0 B) 375%e
‘C) 5:30%0 (D) 5:80%0 |



136. Fill in the blank :

0-00187 X .ovveernrnnn = 18.7.

(&) 100 (B) 1000
(€ 10000 (D) 100000.
fow sam #t 9t Fifoe .

0:00187 x ....c.ovvnnn = 18-7.

(&) 100 (B) 1000
(C) 10000 (D) 100000.

137. Subtract giving the answer in kg.
4317 g from 23 kg

(A 19-683 kg (B) 18383 kg

© 19383 kg (D) 18683 k.

wer fam ¥ 39 it .

23fFm ¥ 4317 1m

(A 19-683 f&m (B) 18-383 f&m

(© 19-383 f&m (D) 18-683 f&wr |
138. A 4-85 m long pole is divided into 5 equal parts. What is the length of each part ?

A 08 m (B) 097 m

(@) 095 m (D) 092 m.

TH 4-85 W TR GN F 5 Fwe yril o il few s ¥ e wm ot e an el ?

A& 0-85H4 (B 0.974

(€ 0-951t (D) 0.927 |
139. What is the value of 2x3 if x=5?

) 225 (B) 250

[ 125 (D) 150.

2x3HFHA FNEM AR x=5?

A 225 (B) 250

(C) 125 (D) 150.
140. What is the square of 0-02 ?

(A} 0-0004 (B 0-004

€} 004 (D) 0-4.

co2ma |t ? :

(a) 0-0004 (B) 0-004

(C) 0-04 (D) 0-4.



142,

143.

144,

proper (B) improper
(C) mixed (D)  unlike.
g WO v e N A T &
@) s ®B) i
© faz (D) faadta

A post has one-fifth of its length in the mud, one half in the water and the rest of it
10 ft in length is out of the water. What is the whole length of the post ?

A 26ft6in (B) 33ft4in

(C) 361t (D) 37 1t9in.

T T A A w1 L wreE A, s e A e 9 10 W @ e el % www @ ) won
ot w7 # 2

A 269k 637 (B) 33%R 439
(C) 36w (D) 37%RZ 9%9 |
Choose the option that is arranged in descending order :
32 9 5 5 9 2 3
A 331612 B a3:96 304
3 9 2 5 9 5 3 2
Q4316512 O} 16-12'3'3
el wH w1 fawen gfig
32 9 5 5 9 2 3
W 431612 ® 12-16'5'2
3 9 2.8 9 5 3 2
© 416312 ® 16+12-3'3
What is the least fraction which when subtracted from 4%-38 “+ “% will make the
result a whole number ?
1 1
w3 B) &
© 3 o 3.
Wwﬁmw%m4§-33+112§—§azﬁqtmv{wfawﬁwmtm>
1 1
A 3 (B) 6
1 1
© 3 D) g3-



145. Simplify the following :

(1+3)-(3-})

1

W g B 6

€ 10 Dy 12.

= = ' ﬂﬁﬁm :

1 1) (1.1
(33 (8)
1

w 5 B 6

() 10 (D) 12.
146. How many prime numbers are less than 25 ?

(A 5 B 7

) 8 D 9.

25 | FY AN AN fHadt § ?

N 5 B) 7

) 8 D) 9.
147. The largest number that divides 99, 132 and 165 without a remainder is

@A 3 B 11

) 15 (D) 38.

fam %1€ Srowe ¥ 99, 13241 165 1 WM WaTen Feow wew ¥

B 3 B 11

@ 15 (D) 33.
148. What is the HCF of 24, 12. 36 and 60 ?

A 4 B) 6

< 12 (D) 24.

24, 12, 36 941 60 1 HoHo FM ¢ ?

(VR B) 6

c 12 (D) 24.

149. Three search lights flash at intervals of 20 s, 30 s and 45 s. The time between two
simultaneous flashes is

A) 5s B 90s
(€ 120s (D) 180 s. ,
3udeRE 208, S0V AWM 45 F AMA NI € 1 F g dWi F ol F g ¥
A} 5% (B) 90¥
) 1209 (D) 180% |
150. What is the LCM of 10, 15 and 20 ?
) 60 (B) 40
() 30 (D) 20.
10. 15991 20 F1 HoHo T & ?
Ay 60 (B) 40
(© 30 (D) 20.

OR / A9ar



91.

92.

93.

94.

SECTION - III(b) / T - III(b)
SOCIAL STUDIES / HTHIfweh AT
There are 60 questions in all in this Section. All questions are compulsory.
T 9 Fa 60 7H § | At wed sifrard €

King Harshavardhana's capital was at

(A) Prayag (B) Kannauj

(C)  Ujjain (D) Pataliputra.
TN FHad Ft w9t

@ B

(€ I=A (D) urefags |
Kailash temple at Ellora was built by the

(A)  Chalukyas (B) Cholas

(C) Pallavas (D) Rashtrakutas.
AR F o wfe F Fmi fEm o

W g g (B) el g

(C) wewEl g (D) TEFA BRI |
How many wings does a village panchayat have ?

@ 1 B) 2

€ 3 D) 4.

™ taga & fee ¥ 2

w 1 B 2

< 3 (D) 4.

The head of a Municipal Committee is known as

(a) Councillor (B) Mayor
({C) Collector (D) Chairperson.
TR et &1 g9 Fgard §

@) g B) WH



95.

96.

97.

98.

99.

The village court is called

Nyaya Panchayat
Gram Adalat.

=1 9=9ad
U FerEd |

28
26.

28
26.

Shankaracharya
Raja Rammohan Roy.
BETIE ]

TS AT T |

Prime Minister
Vice-President.

WYAHET
Igafa |

Bindusara
Pushyamitra.

(A) Gram Sabha (B)
(C) Gram Panchayat (D)
U AraTed Frend §

Ay  wHE B)
(€ um d=Ea D)
How many states does India have ?

A 29 (B)
) 27 (D)
HRa ¥ sl Ft gen Rt @ 2

@ 29 (B)
) 27 (D)
Who founded the Arya Samaj ?

(A) Swami Dayanand (B)
(€©) Swami Vivekananda (D)
A wur = wngn e fean o 2

@) = EEs (B)
(€ w@&rft faEawE=< (D)
On whose advice is the State Council of Ministers appointed ?
(A) Governor (B)
(C) President (D)
Tra® gar W o Hieiog = fgfs et & 2

A TS B)
(€ ugdfa (D)
Who was the founder of the Mauryan empire ?
(A) Ashoka B)
(C) Chandragupta (D)
T arweg F1 GeE R ouT ?

@) IS B)

€ == (D)

fagam
qfa |



100. Fa Hien visited India during-the reign of

(A}  Harshavardhana (B) Ashoka

(C) Chandragupta I (D) none of them.

AT o YRR % AN R w2 e @ ?

(B) T (B) 3wiH

(€ w=E fadta O) & T 7w )
101. Which state was the first to establish the Panchayati Raj institutions ?

(A)  Rajasthan (B) Maharashtra

(C Bihar (D) Uttar Pradesh.

vt T weEt #1 i wdvem faw o A e o 2

A) TS (B) W

€ faen (D) W WA |

102. Constitutional Government means
{A)  Govt. according to the terms of the constitution
(B) Govt. based on the rule of law
(C) Democratic govt.
(D) all of these.

Hauifrs R = g §
(&) dfaur =t yel F ATER EWER (B) WA % SFIER WHER
(C) wArehmifIR FER (D) AT
103. "Panchsheel" was signed between
{A)  Nehru and Chou En-lai (B) Nehru and Mandela
()  Gandhi and Chou En-lai (D) Gandhi and Mandela.
‘gavitel’ W EEIER AN 4 .
@A) AeE R @ - ¥ e B) 7w 3R wgen & 99
i©) it 2ik &t e & W= (D) et st w2 & = |
104. When was the Constitution of India finally signed by the members of the Constituent
Assembly ? ;
{A)  26th November, 1949 (B) 24th January, 1950
(C)  26th January. 1950 (D)  28th February, 1950.
HfauH B9 F. §ewl g0 YRA % WiUH W 3 § w9 gwen gen o ?
() 267, 1949 (B} 24 99&d, 1950

() 26 %=l 1950 (D) 28 w&Ed, 1950.



105,

106.

107.

108.

109.

110.

Who was the head of the Constituent Assembly ?

B.N. Rao
V. Patel.

HloTHe T
o 9ed |

Buddhist architecture
Sultanate architecture.

g T9E %
Hoaqd T F |

Rajsekhara
Visakhadatta.

TAAIER
favmeea |

Bhaskaracharya
Susruta.

R TErd
qF49 |

Supreme Court

) B.R. Ambedkar B)
(C) J.L. Nehru (D)
HfIYE §91 &1 999 H o1 2

(A)  HodRe FESTHT (B)
(C) FoTdo ATE (D)
The anclent name of Assam is

(A) Pawa (B)
(C) Pippalivan (D)
W H GrEE AW #

@) W B)
(€ fooste= (D)
Dilwara temples are examples of

(A)  Jain architecture (B)
(C) Mughal architecture (D)
feemars Hfex sgreo £

(&) S ™9 F (B)
(€C) T T F (D)
Chanakya was also known as

(A) Bhattasvamin (B)
(C) Vishnugupta (D)
= & fFE AW |/ ot s s & 2

@A)  wEEET (B)
© fEormE (D)
Who is NOT associated with medicine ?

Aa) Dhanvantari (B)
(C) Charaka (D)
siafy | frge Sy T8 ¥ ?

A Al (B)
(C) == (D)
The President of India can be removed from his/her office by the
A Prime Minister (B)
{C)  Chief Election Commissioner (D)

A % TP 1 IS Fraterd § el S whar §
{A)  WHEFEE g (B)
(C) W& 7= Agw® g1 (D)

Parliament.

I=HAY ATAeTd g
HqEE g |



111. The first nuclear test in India took place in 1947. What was it called ?

(A) Shaktil (B) Tornado
(C) Chagai (D) Smiling Buddha.
ure ¥ wgw e wWiem 1947 ¥ gen o1 | 10 forw A & Wi v § 2
@ o ] B) =S
© = (D) FWATLHES |
112, .‘Shakuntalam' was written by
(A)  Kalidas (B) Bhasa
(C) Kamban (D) Asvaghosha.
‘argae fd &
(A wifeeE A B) wEA
€ w3 (D) orEEsE 3 |
113. In the Third Battle of Panipat, the Marathas were defeated by
(A) Mughals (B) Afghans
(C) English (D) Sikhs.
grga &t Fe TR ¥ gl i sofea fea o
(A e A B) HHTH A
(C) IS A (D) fa=dEiA |
114. Who said "Swaraj is my birthright" ?
A | Bal Gangadhar Tilak (B) Netaji Subhas Chandra Bose
(C) Dadabhai Naoroji (D) Lala Lajpat Rai.
fg & ' woeg 9U Sfag Afyer'’ € 2
(a4 9 TR fiers (B) AdTSh Uy == AN
© = AR (D) N A T |
115. Rana Sanga is related to
(A) Malwa (B) Khajuraho
(C) Mewar (D) Mandu.
Ton | Wy ¥
(A) TeEr ¥ (B) @9 |

© WA (D) AUgH |



116. Kanishka started the Shaka era in

(A)  AD 62 (B) AD 78
(C) ADB82 (D) AD 88.
Y& HTA F YA Hish 3 Fi ot
@ 623 ® 78% %
(€ 82 H D), 88%F r
117. Who was the first British Governor-General of India ?
(A)  Dalhousie (B) Hastings
(C) Clive (D) Canning.
wrd H wyd fafew ot S w9 2
@ swEr B) ™
© e (D)
118. The British invasion of which area led to the Sepoy Mutiny ?
(A)  Oudh (B) Bengal
(C) Mysore (D) Delhi,
fora & F e s F o faaret fase gen @1 2
@) erEy (B) =
© g (D) faesdt |
119. On independence India became a dominion. In which year did the dominion status
end ?
(A 1947 (B) 1948
(C) 1949 (D) 1950.
A T W A O fgmea 5 o | fearaa 1 <ot fra ad @ gom 2
@& 1947H (B) 19487%
(€ 1949% (D) 1950% |
120. Who was the last Governor-General of independent India ?
(&)  Mountbatten (B) C. Rajagopalachari
(C) Sardar Patel (D) Jawaharlal Nehru.
WA 9 W Sifem TR e w9 4 2
(A} WEvEER (B) ¥to TSTIIATERT

() UER wa (D) VAT EE |



121.

122.

123.

124.

125.

Who was the writer of Mahabharata ?

A Kalidas

(C) Tulsidas

TEE ¥ @ A A ?
() HrferE

© e

Who built the Red Fort ?
(A) Sher Shah

(C) Akbar
e faen =1 Fafu feaa e ot ?
() AR
() &

Who was the first President of India ?
{A) Dr. Rajendra Prasad

(C) Zakir Hussain

A % W9H ngqﬁl'aﬁﬂ q ?

(A) o TR TER

() nfEx gdA

In whose memory was the Taj Mahal built ?

A Noor Jehan
Q) Mumtaz Mahal

aremEe 1 e B arer | e T a2

() TSl
(C) HHarSl HEd

B)
(D)

B)
(D)

(B)

(D)

(B)
(D)

(B)
(D)

(B)
(D)

(B)
(D)

B)
(D)

Vedavyas
Kautilya.

AT
Htfeea |

Humayun
Shah Jahan.

-~

Y
eS|

Dr. S. Radhakrishnan
Jawaharlal Nehru.

Eio THo TUTFTH
AR T |

Anarkali
Shah Jahan.

STARHA
yEsEl |

Which religion has 24 great teachers called Tirthankaras ?

A Hinduism
(C) Jainism

farg wd § el F AW Y 24 HeW m=d € ?

W fegud
© ¥

(B)
(D)

(B)
(D)

Sikhism
Buddhism.

fara ud
a‘l‘;uﬁl



126.

127,

128.

129.

130.

Gautam Buddha preached his first sermon at

(A)  Prayag (B)
(C) .Gaya (D)
g g% veon yaud 23 2

(A wEmH (B)
© T=H (D)
"Who was the last Mauryan ruler ?

(A) Bindusara (B)
(C) Devavarman (D)
sifaq W1 e F19 o 2

@ fagEr ®)
(€) 2FEda (D)
Ancient Rome became a republic in

()  6th century BC (B)
(C) 1st century AD (D)
W U9 Fd TR g ?

A od R fudt o B)
© 10w dwet (D)
The script of the Indus Valley Civilization is

(A)  undeciphered B)
(C) Persian (D)
Tory =t wyaar # fafy ¥

(B FETE ®)
© wrE (D)
The Harappans did not know the use of

(A)  Gold (B8}
(C) Iron (D)
T F A W@ O A W &

(A " oE (B)
(O (D)

Lumbini
Sarnath.

gt &

qAYg H |

Chandragupta Maurya
Brihadratha.

F=TH |
FEEY |

3rd century BC
2nd century AD,

felt ot $oet o
2T 9Et fwat |

Sanskrit
Dfavidlan .

s
wfas |

Silver

Bronze.

=T T
HIET FT 1



131. Which animal is the attraction in Kaziranga National Park, Assam ?

{A) Rhinoceros (B) Lion
(C) Tiger (D) Bear.
S7Em ¥ O S U w1 T A W ¥ 2
@ e ® I
() == (D) ¥ |
132. Once a French colcny, which place is the home of Aﬁroblndo Ashram ?
(A) Chennai '(B) Andamans
(C) Pondicherry (D) Goa.
=% T o e T w1 e SafEe o, ot ayefere snam 1 e ¥, B W ?
@ (B) FHHH
© wifessd (D) TET
133. Bombay High refers to .
(A) offshore oil field (8) onshore oil field
{C) offshore gas field (D) onshore gas field.
= g wefda ¥
(A) e AS & 8 B) o aw &1
© ovEe dwaw R (D) weEd AT |
134. Which of the following became the 26th State of India ?
(A) Uttaranchal (B) Jharkhand
(C) Goa (D) Chhattisgarh.
@ E smal g P A A WA R ?
(a) FUUHEA (B) ¥FRES
(€ T (D) TEETE |
135. Which of the following rivers does not originate in India ?
A Kaveri (B) Narmada
(C) Brahmaputra (D) Ganga.
A ER-d A W S W A # ?
@& wEd B) T

(C) w&EdA (D) T



136. Which is India's longest river ?

(A) Godavari (B) Krishna
(C) Mahanadi (D) Ganga.
YR i gEad 6 w2
(@A) T B F=0
© wEE (D) T
137. What is the time difference between GMT and IST ?
(A) 4 hrs 30 min (B) 5 hrs 30 min
(C) 6 hrs (D) 6 hrs 30 min.
UAfa= A 99 a91 HRdg W 999 & @ gagiaaa e 2
(A 4 30 A= (B) 5w 30
© 6% (D) 6% 30fFe |
138. Which of the following geographical features is not found in India ?
A) Lagoon (B} Glacier
(C) Iceberg (D) Desert.
forer § B Y - o WKd B e v o & 2
(a) FHR 9 B) fewas
© ferds (D) W& |
139. How many oceans touch the Indian mainland ?
w o B 1
Q) 2 (D) 3.
yIdlta e yvr § e gerarr foea € 2
(A) 0 (B) 1
< 2 (D) 3.
140. In which state is Silent Valley located ?
(A) . Maharashtra (I3} Kerala
(C) Uttarakhand (D) Kammataka.
HRAve ot fra wa d fea ® 2
A) WEWY (B) @

(C) 3IHuEvs (D) wHAlew |



141. Banana and pineapples are mainly grown in the

(A) Tropical region (8) Mediterranean region
(C) Mountains (D) Desert oases.
e 3R S A 3 ¥
(a)  Ion i & H ® v & A
© weTEl &l A (D) weaEl A |
142. Which is the group of languages spoken by the largest number of people in India ?
(A) Indo-Aryan (8) Dravidian
(C) Austro-Aslatic (D) Sino-Tibetan.
fer § Q TR WHE BT R ra & el wfus @ e € 7
@ s o ® =@
© - () <= faedl |
143. Which of the following are (win cities ?
(a) Delhi and Faridabad (8) Mumbai and Pune
(C) Bangalore and Mysore (D) Hyderabad and Secunderabad.
frm A wR g AR ¥ ?
() feeett aun wlEER B WA AW
(€ @ ag AL ) ¥erEe ad faseEE |
144, The largest amount of saffron comes from
(A)  Uttar Pradesh (8) Jammu and Kashmir
(C) Kerala (D) Assam.
ettt W A e foern #
@A) SWERW I B) - HYER 8
© F@@A (D) HEHE )
145. How many languages arc accepted in the Constitution of India ?
& 15 B) 20
c 22 (D) 28.
s 3 dfaem g R wiga € 7
Ay 15 B 20

) 22 (D) 28.



146.

147,

148.

149.

150.

The path of a planet around the sun is called its

Aa) revolution (B) rotation

(C) orbit (D) spin.

T & =l @i R swme w1 Ant Feewn § s

(a) wfEEE B) aftyE

(C) =hadl (D) 9% |

The celestial body nearest to the earth is

A)  Sun (B) Moon

(C) Venus (D) Proxima Centauri.
yet ¥ gad Frapean wirey fave @

@ ® ==

) & (D) Wi FUEd |

The equator does not pass through

(A)  North America (B) South America

(C) Africa (D) any of these continents.
s Y et e €

@A) ST e § A TER (B) <l s § & €
() Ffpa ¥ § B (D) T |+ TF AeE |
Large salt water masses smaller than oceans are called

(A} lakes (B) islands

(C) seas (D) rivers.

TETEIR A BT gg Tavita A Fweend ¥

) e B g9,

€ W (D) &

An area drained by a river and its tributaries is called a

(A) basin (B) canal

(C) dam (D) strait.

et 1 SR THF FEAFT G ATAE qF Heend §

@) B B

© iy (D) TEEHE |






